Answer Key

Practice B
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(x + 7)(x — 3) 2. cannot be factored
x+3x+5 4 X+ 7Nx+2
X=—7)(x—4) 6. (x—6)(x—14)
cannot be factored 8. (2x + 1)(x — 3)
(3x+ 2)(x—1) 10. 3x+ 1)(x + 2)
X+ 3)(x+1) 12. (2x—1)(5x+1)
6x—1)(x—2) 14. 5x—3)(3x — 1)
cannot be factored 16. (x + 8)(x + 8)
x—3)(x—3) 18. Xx—7(x+7)
(2x+1)(2x+1) 20. Bx—2)(3x—2)
(3x — 1)(3x + 1) 22. cannot be factored
cannot be factored 24. (2x + 5)(3x + 1)
2x—5(x+3) 26. —-(x—3)(x—7)
—3x+4)(x+1) 28 2(2x+ 1)(x + 3)
32x — 1)(x—5 30. —2(2x + 3)(x — 4)
32x — 1)(2x + 1)

—2(2x — 3)(2x — 3)

53x + 1)(3x + 1) 34. —6,5
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